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-1 ;
(3) F

SECTION - |
"rg_| :
CHILD DEVELOPMENT AND PEDAGOGY
T foreT we Rrememen
There are 30 questions in all in this section.
All questions are compulsory.
T EvE H gt 30 ww F |
T 3 e § |

A Icaming dlS&bl]]l}-’ that involves difﬁcu]ly n handwﬁf_ing ig called
:2: E}'sluxmt . (B) Dyscalculia
. segrapia _ | (D) Attention deficit fiypei®efive disorder
3 O Al faemetima faad ferarae e wnfirer 2 2.
(A) femifaaa (B)
(C) feanfem . (D)

Which one of the following is related to sun
(A) Provide the teacher with continuo
progress.
(B) Focuses on molecular analysis
(C) On-going of systematic asse
(D) Terminal assessment of thg
f= 9 @ =519 w1 v dmeres :
(A) TSI F BE FH 1 P [t 311 AeenTel SfafEman wem 3 |

ys Mat there are many specific types of intelligence or frames of mind.
Which one 19Q8 gﬁry of intelligence as suggested by him ?.

AP Mielligence (B) Creative Intelligence
lisPskills (D) Practical Intelligence

ﬁml%_ﬁaﬁmﬁgﬁmﬁm%%ﬁﬁﬁ.ﬁﬁmmnﬁﬁﬁ%ﬁ'

g (B) TEATH (g
(C) wepferard Hrer (D) wEERE e |
In our country many children speak more than one language. Find out from the following,
the correct advantage to children who has ability to e;lpeak two Ignguages. _
(A) Facilitate concepl ﬂ‘rrrnﬂllifm (B) Facilitate analytical reasoning
(C) Facilitate cognitive flexibility (D) All the above
% 2w 5 o O & it e & | e @ g s, & wradl ) drer e

ATl w1 o fo1g Well A
(A) rauTe e H g (B) Tervetsurrene; aeh & gfawm

(C) EFATETH Fetea § g (D). 39U wft
P.T.O.
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A teacher in the classroom is doing some activities like : () askisng 0ot Gnly yvisat bappenad

l_:;ut also “how and why”, (b) helping them to compare various answers to a question and ° :
Judge which is really the best answer. From thinking point of view, through these activities 1
he is trying to promote : |

(A) Analogy (B) Critical thinking

(©) Integrative thinking (D) Concept mapping _
T AT e & o ity & w@ R, I (37) 7 baw 97 @ w71 gon 9o 75
1% 9 skl () 32w v Rl e e vow 6 qee wONG Weg FO
Wﬁmmm%,ﬁmﬁﬁﬁaﬁméﬁﬁmm@

(A) |9Har (B) SATeTI=HIeHS |IY O -
(C) vHipa b (D) 3y '

Positive or negative stimuli or events that can m
psychological perspective explain motivation in t
(A) Humanistic (B) J%eh
(C) Cognitive

O HHITeHS 3R THRIeHS I 71
afSIE 39 a1 & Son i sren w0 A

(A) »HHaaTETE] RN

(C) HFHTHS % D) wmHIfa®
The term inclusion m ing a child with special educational needs in the
regular classroom, L

stadent’s behaviour. Wiiich

(A) mostofthe n (B) full time
(C) some time (D) notme
iy i aarsar @t a= ) _ Fafira sarse § fifam
(B) T Ewg
(D) Toeft o

A language teacher teaching a poem in the classroom by explaining the details of the poem
and asking the studerits to draw conclusion or broad view from explanation. It is an example

of
(A) Inductive reasoning ' (B) Deductive reasoning
(C) Concept mapping (D) Hypothesis testing
§ e T firereh e e w1 foraor awsmeR e § S ver @ 2 o onl e
& frepd fiem 91 9% fER A S Tt F2 @R | 98 &1 0 e 2 - :
(A) HITHAICS T/ (B) P
(Cy TR HIAET (D) aiEpegT e
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' (5)
9. Psychoanal ; % .
- ¥sts bel . .
id”. It is calleq 1eve that there s 5 Primary means by which the ego “keeps the lid on the
(A) - Super Ego
(C) anﬂgctg (B)  Pleasure principle
D) Repression
AT 7 2 e D), Repremsia
FHEATT 8 - i H'“q%,mWEgo“qutaﬂ‘iﬁmm%nqg
e M (B) 3w fargma
(©) &= ©) =

(A) Hans Eysenck

(B) R.B. Catge
(C)  Gordon Allport " (D) cmu& .
HE — afedE safe o w0 e 3 2 3:
(A) BWamdes
(C) TS 3=arE .

10. Intmversinn-Extraversiun trait of personality is propounded b)co

11.  Which of the following best excrgfflifigs wh motivation is 7

(A) Student A" is emotion O thflipcoming school year and wants to.do well.
(B) Student “B” is energizSie®€ets igh goal for doing well in his maths class, persists
with considerabl Yt amdfcore highest in class.

(C) Student “C™ isag

ting his attention to what he wants to accomplish.

(D) pilTd. cxperiences positive feelings about her academic work.
Frer 3 2 i g FeTE & f o w8 7
(A) B=“ el a4 & "R H N19% 2 3 301 S EEa g |

2, 39 T & 7 37 A o o o= wiem Rutia e 2, w0 v
TEAT #, 3 &1 H I=AH 3% ITH FAT R |

g og 1 T HEAT W 8 T 39 2 FERE w0 | a2 |
B T Y HeAd Fl 8, IHeh N FE S A H TR W N wE weA R |

12. If extrinsic motivation is a means to an end, then intrinsic motivation is

(A) abeginning (B) anend in itself ,
(C) a beginning and end (D) None of the above
afs ey Srom v 3 Y R 2, A SR won 2 |
(A) U YRITE - (B) 39 319§ U 3a
(C) T YA 71 378 (D) Il o
P.T.O.




13. A systematic science which provides riiles, laws and principles for achieving adjustment
With self and the environment is called :
(A) Motivation (B) Mental hygiene
(€C) Leamning (D) Conflict
T wrafe fam S w3k A & @ a5 e % fre fa, waﬂr

g wem w2, FEema 2 -

(A)  afirson - (B) femmft smimar .
(€) 3iftrm D) =% : |
14.  One of the adjustment mechanism involves thinking I%a@:iali}', in approved

reason of past, present and proposed behaviour is called .

(A) . Compensation (B)
(C) Regression (D)
U HHIISH @3 § 37did, 969 3R geafaa
w9 8 e e B, FEenar 2
(A) wfdehtor

(C) wfema e

(A) Physiological facto® (B) Psychological factors'

(C) ¢ (D) Other factors

A hi g mﬁ%mﬁmﬁﬁﬁmﬁ%l%%@mﬂvﬁﬁﬁiﬁa%;
(A) L (B) . BT s

(C) (D) 3 1=

16.  Which of the following condition promotes adjustment ?

(A) Acute anxiety - (B) Obsessive thought of guﬁt

(C) Fear of illness (D)  Free from neurotic fears and anxiety
o=t feferal o 6 17 guraism =1 sgran 3t 2 .

(A3 i I (B) 39wy %1 9 faram
(C) drlt H1 (D) =i v 3ik R A 7w

i
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17.

19.

20.

(7) F
As a teacher you asked vour
on our hfe. Which
assignment 7

(A)  Analysis (B)

o HILI'LiL‘TITfi 0 write an 5544y s,_'\]‘!‘.‘ﬁnuj::-_ the impact of 1"'~'HI.I“1.H‘
cognitive ey - e ) ! )
gntive level of Bloom's taxonomy is best illusirated by this

; _ Apphcation
(C) Comprehension (D) Knowledge

Wﬁw%mﬁmmmﬁﬁmmmm%mmmm@ﬁﬁﬁﬁﬁﬁ
% foro = | 79 HTVT B =50 & aifian F 39 @ G S A R 2
(A) Tegem (B) @M

(C) www (D) T

As a teacher vou have collected information about intellicence. pg v and classroom
behaviour of a student by using appropriate test and check-list, hi
(A) Assessment (B)
(C) Evaluation (D)
forares 3 AR TC 39 e g e sk

T SRR & a1 § TSR Uh3 1 2 | 98

(A) HATHeH
(C) I{?ﬂ'l’iﬁ {

Which domain is not named ingBlogaN\fx onomy
(A) Cogmuve {B1 Conative
(C) Affecuve (D) Psychomotor

(C) WEHS 2 (D) o
Which o ollowing is not a guiding principle of Nanonal Curneulum Framework -
2005 |

aking examination more flexible and integrated into classroom hie.

(C) Leaming should facilitate the rote method.
{D} anﬁhiﬂg the curriculum to prov ide for overall dey Ul“!‘“'ﬂﬁﬂl of children rather than

xt book centric. . —
ﬁqﬁ:;naa%";;;ﬁmmmoszﬁﬁmmmp
(A) T g A A ) ’
(B) fe @ aftres wren 3 Fa e 3 THFA FA |

%C) e @ Tz frfty @) g & SR |

W%ﬁamﬁﬁmﬁ%mﬁm%muwmmm I

(D)
P.T1.0.
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21.

22,

23.

(8) ST

Initially 4 baby grasp the object by using his whole palm. Gradually as L:.'“‘Wlh and
development continues the baby uses finger and thumb to pickup the object. This type of
Progression s

(A) Cephalocaudal progression

(B)  Proximodistal progression

(€} Mass to specific action progression

(D) Random progression - :

U H O T 310t ot el ot e e e ) v 2 | oot g T
ﬁmwmmmma@ﬁm%%ﬂmilmm :

(A) Fadseraere iy ()O

(B) witeawifems wify
(C) =amve & fafire Hrdard wify & S
(D) i yify

Development in child is often divided into thgped
emotional and social. So far as develop | pro
ne

(A) develop independently without 1My other

(B) develop in an integrated an stiggashion
(C) develop partially
(D) develop randomly ’

s 1s concerned these domains -

who 1s high or low in a characteristic (such as verbal ability) will remain so at
later ages. This statement stress the importance of

(A) Early experiences (B)  Environment .
(C) Heredity (D) Both Heredity and environment

e w1 1 P 0 P (38 wifige ) H I o R, e 3w A ofi ot | e e
& gEea AR AR

(A) ST I (B) S
st (D) T aun ST 2H
(
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" F
24. The law of use and disuse in learning is also called s
IA] law of cI'TL‘CI {Hl law of exercise
(C)  law of reinforcement (D) None of these
wftm & 3w sk 3red  fram 9 i am a2
(A) wamE &1 fam (B) =g =1 frag
(C) wwer &1 fram (D) ¥AH | %1d 78
28. .l“ Paviov's expeniment the dog salivated not only when meat powder w directly
in his mouth, but also well before that i ¢ when heard the trainer’s fi s Chming down
the stairs. Thus phenomenon is called as
(A) . Extinction (By  Unconditiogal sl@
(C) Conditioned reflex (D) Reading *
U & WA, $e 7 Fa WiW we % g o 2, g vee et off
(y i #ifeEi & 2 3 e sl & s R ke LE ki R
(A) Femm (
(C) Fggpiem I (
26. Cogmition develops through 1 sess of interaction between the child and the
environment. This pnnciple 1s
(A) Thomdike’s learm (B)  Piaget’s cogmitive development theory
(D) Kohler's leaming theory
wa-fora & Fie v & wrom @ fasfi A 2 | 4z fagm
(B) Frars drers fawme oz
(D) wiwen wiem fagm
27.  In'Owt's theory a process which is the balancing act between the “old” and the ‘new’ -

perceptions and expenience known as

(A) Assimilation ' (B)  Accommodation

(C) Equilibrauon (D) Knowledge disturbance

s & fagia 8 T wiE@ 31 GO 3T — a3 S % dre daee e R, I
W R '

(A) wHEd . (B) wWMEEA

(C) wgem (D) ¥m fa

P.T.0.
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28. Which of the following is not a precaution for using intelligence test ?
(A) Avoid unwarranted stereotypes and negative expectations about students based on |
scores,
(B) Individual assessment of intelligence is a structured interaction between the examine
and the student.
(C) Don’t use IQ tests as the main or sole characteristics of competence.
(D) Be cautious in interpreting the meaningfulness of an overall 1Q score.

P 3 & 2 ot e oo 3 fore v a3 6y rerer T 2 7
(A) 3T o T 3 TR W i wfeard s wmt & ait
(B) & 1 =i smeer vl 3k o1 & 4 v g
(C) w6 ey a1 vepmr Reswenii & = if 31é oy whagil #
(D) U ®Hn 3118w T 6 wrelwar I s 3 are

29.  As per Erikson, psychosocial development of chfldrg
class III (around 9 years) corresponds to whishSgaf
(A) Autonomy versus shame and dnub& O¥iry versus inferiority
(C) Initiative versus guilt ) Wtimacy versus isolation

e & IR, T w5 =it # B R | 0 a0 3 e (9 W %
FE -y famm & fpu s

(A) wifdferft @ w2g &
(B) it &9
(C) Aqed ¥4

30. Which of lowing statement is not true for norm reference test ?

pdevelopment ?

ent’s score is interpreted by comparing it with how others performed.

(C) Test is said to be based on national norm,
(D) Student’s performance is compared with established criteria.

e g )

() e e & i e g At w s @
() m%“ﬂqﬂmﬁﬂﬂﬂiﬁﬂwﬁMQl
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L 3. ;?;mfﬂmiixqémaﬁahﬁamfamw&iﬁﬁm‘ﬁﬁiﬂ! " W
fem2

(A) EweE T (B) anfa= Oiw
(C) faEsm= (D) foerar v
TR I S e -
(A) =3 (B) 4N
(C) == (D)
- T B v e R 3 R 7 @
(A) 'F-EI (B) i = O
(C) witrm (D) & ()
TSI et @ forfign svfiveren =g 2 & ¢
(A) & (B)
(C) F=fq (D
B ®I I E R &
(A) g (BN AT
MO gz @l g
| A 44 TIETES S FEEAE 6
F “% (B) TEYE
| (D) Ye=rys
(B) He fawey
(D) =aTRTfores
; (B) f&3
(ONfea famms (D) tafes
. Ae® & gy fee Rz A o
(A) d2@ (B) M #
() ®Aa e (D) ¥i@d
w3 ) G W e
(A) fraraEras A (B) ﬁqhmm

() P geae (D) HHTHS Yeqie
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0. o Riz ghen dam & o awgnh o 2
(A) T Rfife anaf (B) fineo & =
(C) YIS & Y (D) w¥at & W&

“O)s0. Iy Mg R -

(1
L

(A)  HrEa s wiaamal w1 39 s s |
(B) e gl wfgavgat 1 g v go Ry fwn s |
(C) aTeTh! ) Fa) weaeeft sfareat & gar eoman |

(D) Ty ) ey st sfamgat 1w e | @

Frrferfiga meme & Imam wt v FE@n 51 @ 55 7% & e frg

T EWR EA IR S R R s wl mmr o ¢ I H
2 | St e & s -uw 3 ot gE @ % ap & ifers
TR, TS, W @ & g i qfd =l @ 2w '
a1, e H WeEa gl iR H9d
Ay i diferes gefRal & v 39 @
w0 A ot T T ) Efied

qeraH i aT T R | 3! waa-
— o % € Y % E] ) g2 W R |

51, % v snse R LE
(A) famior (B) Fafeit
) Pbws (D) Fw

e 52. = ¥ IfaaEs § ) HT o HE IETE R -
(B) w4 -gdE
(D) -7
53, o i 3 for g gt R 7
¥ fireret w9 mn g3 (B) ¥&, 5t et e g 81 |
(C)  Hel A ferwame (D) ¥ T w=eE
54, TS HTHT H EE AR -
(©) =i _ « (D) I
‘.;%55, ‘W -urE’ v § HE E w8 7
= (A) @ ®) fa

(C) wwHur™ (D) aFey
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Frwrfevfiam meria 3 simeme v s 56 @ 60 7% ¥ e A - %
o g s g | 3w A o et o RN B EHA R | TG gy o
& siwta ¥ |y H e fren-soneh vt A | gw w0 AR B O 9 gy
mﬁmﬁ?ﬁﬁmumﬁﬁﬁ!ﬂmmmmm,@%ﬁ*ﬁﬁﬁaﬁﬁnhw|
TEH @ B fran-sone Ha-eh a I R | yoreh g B wwor @ ot A aw A 2y

R Tt 3wl dg Ry a7 a9 @ @ wf s o 6 e 1 Wy
HII | 3 o v v, R v e, o e 4 faren 2 =fee & i -
mﬁm%ﬁ—ﬁmtﬁmmﬁﬁq,vﬁﬁaﬁﬁ!iﬁﬁq;ﬁ 78 A e 5

R | e e el o frean 2 |

| \b |56, ‘It wreg @ wn s 2 7 @

w4 - R & 9 2y @ - aw s 2, nmmKt ~ G 1 A9 HE e

} (A) Taadia and =6 aren a7l gren
| (C) ﬁﬂrzanfaﬂ?tm aaﬁ!isﬁﬂm'
@57. ¥ #1 |1 v g & %ﬁm
(A) R % (B) et
(C) wed Q (D) fmE

58. FHHH A e 7

(B) T’-TR
(D) I — I

59. ‘ITEATIH HE W Gl & BN I H B °1 Hel B 7
(A) | wiesyq wer (B) e Wi %
(C) A (D) HE~ d

@w. gorreRt’ wreg 1 wEt e &
(A) WU (B) ™
() g (D) faum
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32.

3s.

36.

37.

(15
LANGUAGE - |
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory
Which question s COrTect in its structure

(A)  Why did she write the letter ? -

(B)  Why did she wrote the letter ?

(C)  Why did she written the letter 2
(D)  Why had she wrote the letter ? O

“She speaks English fluently.” The correct

. . passive fo f the sghience will be
(A)  English is being spoken by her fluently.
(B) English has been spoken by her fluently.

(C) English is spoken by her fluently.
(D) English was spoken by her ﬂucntl&y

Which of the following contains thgvordsgginning with the same consonant sound ?
(A) Chicago — Chorus ) Cherish — Charisma
(C) China — Chrome (D) Check — Chain

Which of the following gs the same vowel sound ?
(A) hook - broo (B) cat - bat — mat
(C) win—we-— (D) lead - leak — break

-t fhonetic symbol for the underlined sound of the word ‘boy’
(B) /bae/
(DY /ol

Choose the

s The proper order of language learning ?
istening, Speaking, Reading, Writing
(B) Listening. Reading, Spea?ing, Writling
(C) Reading, wWriting, Listcnmlg. Spukfng
(D) Reading. Listening. Speaking, Writing

is applied in order to choose a particular course for a particular class.
is &

J}_ ?lrh: Principle of Maotivation

(B} The Pninciple of concreteness

(C) The Principle of proper order

() The Principle of selection -



d (16) 5T
38. Whichis the classical method of teaching English ? _

(A) Direct method (B) The Grammar — translation method

(C) Bilingual method (D) Audio lingual method
39. Who developed Bilingual method ?

(A) Dr. West (B) Prof. C.J. Dodson

(C) Prof AS. Homby (D) Prof. Jesperson

40. _In which approach does the teacher introduce the new words incidently j ciss ?
(A)  Structural Approach (B) Multilingual Approach
(C) Situational Approach (D) Multimedia Approach ()

41. What is the purpose of writing at Elementary level 2 .
(A) Development of motor skills

(B) Discrimination of the words
(C) Taking notes
(D) Initiating conversation

42.  Which technique of reading is used to |
(A) Library reading
(C) Oral Reading

43.  Which is ‘Look and say’ m ing 7
(A) The Alphabetic me The Phonic method
(C) Theword m (D) The sentence method

44, has the advilngfze o providing a focal point of attention for the whole class and
can be used for a vgriety W purposes.

* (B) Film strips
(C) (D) Slhides
45. Wh characteristics of a good text book ?
(A) te subject matter (B) Suitable structure
( le vocabulary (D)  Frequently misspelt words

46. Which test is conducted in order to find out the students leaming regarding the
discnmination of sounds ?

(A) Reading test (B) Comprehension test
(C) Listeming test (D) Writing test
47. _ tests can be scored qQuickly and consistently.
(A) Objecuve (B) Productive
(C) Subjective (D) Primary

i )
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85 Find om the word from the text which means ‘An event lor pubhic entertammeny i

trade’
(A)  Shop (B Toys
(C) Fair (1) Merry-go-rounds

Passage (Q. No. 56 - 60)

The state police went 1o Rastapal village on 19 June, 1947 1o close the school which wy,
he police then

runming i the house ol Nanabhar khant. Nanabha refused to close the sg
beat up Nanabhai severely. He fell unconscious. They took him awi
However, Nanabhai died of his injuries on the way betore the G

W continued 1o teach the

em o impnson
Id reach therr camp

After this the police beat up the teacher Sengabhar Bhegy wi

children despite Nanabhai's death. After beating Seng. he p®lice ned him 1o thear truck

They took him away dragging on the road. A studen ol named Kalibhi could not see

this. She ran towards the truck with a sickle 1€ es and Tree sengabhar. The police

wamed her not to run after the velicle but nugghsten to them She reached her teaches

and cut the rope with one stroke of the sig

§6. The words ‘Sickle® and 'Ve
(A) Adjectives
(C'Yy Nouns

(B)  Adverbs
(D) Pronouns

dnabhai severely.” The verb  “beat up* 15 m
(B)  Simple Past
R 2 (1)) Present Perfect

-§7.  *The police then

58. ‘'She rqug\d Ter teacher and cut the rope with one stroke of the sickle.” The verh cut’ 1s

ple Present (B)  Simple Past
imple future (D) Past Perfect

§9. Which of the following has the three degrees of the adjectives in their correct form *
(A) Angry - angner - angtiest
(B) Angry — more angry - most angry
(C) Angry - more angrily - most angrily
(D) Angry - Angener - Angeriest

60. Which of the following options has a determiner in it *
(A) The pohce (B)  then beat up
(C) took him away (DY He fell unconscious
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33.
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37.

(19)

LC LS | |
qamEr -1
T

w3 e v 5f= |

B4 W1 HUTHA: |

mmﬁmilmﬁﬁﬁ?mw_

(A) ©E: AT 93 |
(B) BHE: WIS T34 |

(C) o S 92f | & .
(D) BE: AT+ 734 | @
(A) Tl W4 T4 | W 9= |
(C) WIq: ¥ 594 | @} [T WiEE T4 |
W TENRAT faud %
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SECTION-111
LANGUAGE-II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.
61. Thebatteryhas
(A) came down (B)

gone down
(C) rtun down (D)

ran down

62. Curtal sonnet is

(A) fourteen line poer (B) ten and a half line poem

(C) thirteen line poem (D) eighteen and a half lifg p
63. 'A lament for the dead is a feature of ¢

(A) Ode (B) Elegy

(C) Sonnet (D) Dr

'64. A fictional prose tale of no specified Iz&tl y short to be published as a volume 15
no

(A) drama )
(C) novellas 6 gort story

65. ‘Conflict’ is a feature of
(A) poem (B) story
(C) drama (D) novel

66. Identify the
(A) sl
(C) t

in which the end sound is different from the other words.
(B) reap
(D) deep

67. t the correct transcription of the word *garage’

( /guraj (B) gariz
(C) giraz (D) /Gaeraiz

68. Principle of Linking with Life in teaching of English involves
(A) Use of word structure .
(B) Use of semantic structures of English language in daily life
(C) Use of building structures in daily life
(D) Use of graded structures of English language in daily life situation



g ; (44)
: 9. In Communicative teaching teacher promotes communication by
(A)  Creating situation (B) Teacher’s talk
(C) Bonding of alphabet (D) Creating nervousness

70.  Linguistic Competence refers to :
(A)  Communication knowledge of grammar
(B)  Communication knowledge of vocabulary
(C)  Capability of knowledge
(D)  Communication knowledge of grammar and vocabulary

7. The challenge of Acquisition Poor Environment refers to ():
(A) Learners learning of literature 5
(B)  Poor study habit :

(C) Pollution in English ]anguagel
(D)  Limitation of learning English languag€ inel om

72.  One of the main barriers to listening
(A) Time & Dime
(C) Learner’s prejudice

B)¢ Barricades of class
‘nscathed Ear

73. Remedial language teac eant for development of

(A) Particular ski @»
(B) Areas left by rdufilar teaching
(C)
(D)

ular teaching

74. tor spoken English involves
11 and studying

(B) “SRevision, drill, situational communicati
(C) - Going through situational practice

(D) Revision and practjce

75. Communicative approgch to ev
(A) ITTlPﬂﬂﬁﬂﬂE of meaning of utterances rather than f,
(B) Importance of form and structure
(C) Importance of evaluatiop
(D) Importance of learner

aluation emphasizes

™M and Str|-1~".‘.lLlre
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76. The inu:_gral approach of fanguage testing involves testing of

(A) Primary language (B) Secondary language

(C) Third language (D) Language in context

77. Elective Approach to evaluation takes account of
(A) Approach to class
(B) Communicative approach
(C) Structural approach
(D) Combination of commUnicative approach,

approach ;

integrative approach an ctural

78. Remedial teaching should be carried out on
(A) Identification of senior learners
(B) Identification of early learners ¢
(C) Identification of late learners
(D) Identification of malady on language test an

79. During preparation of test paper teacher tak development according to

(A) Nominated evaluator
(B) Instruction objectives
(C) Number to copies to be distri

(D) Seating arrangement

80. In Remedial teaching c .oh on trouble spot is best done by

(A) Arranging intergive
(C) Arranging!

ctice (B) Arranging medicine
¢ (D) Arranging bubble spot

Passage :
one's country is one of the noblest sentiments of man. It is love that comes

from one'® tePulness to the land where one is bomn, the country that provides everything that
makes life worth living-food, clothing and shelter. families, friends and the way of life of its
people. Or, in other words, it is our country that gives us all that we enjoy and all that makes
man’s life different from and richer than that of all other animals.-That is why patriotic feelings

are natural to man.

81.  Which one of the following is the most appropriate title for the passage ?
(A) Patriotism (B) Love for country
(C) Noblest sentiment (D) Patriotic feelings

|
|
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82. In the above paragraph ‘in other words’ ifndicatezlation

(A) emphasis (B) refqrrﬂ_l

(C) Sequence (D) Addition

' 3 arch.

83. The captain as well as his soldiers ready to m

(A) is (B) are

(C) were (D) has

84. In the above passage the author wants (o convey

(A) »Patriotism is second to any other sentiment. O

(B) Patriotism is not natural.
(C) One must be patriotic to an extent.

(D) One should be grateful to the land where one 1 M. o

85. People who buy stocks are no different fro
risk their money with little chance of makig@

Above lines contains
(A) the fallacy of hasty generalizgfton.
(B) the fallacy of false analo
(C) the fallacy of compositfn.

(D) the fallacy of equiysegtion.
86. What two words @5&1 in the construction of a simile ?
(A) for, against (B) with, as
(D) while, during

87. Which of owing lines contains an example of assonance ?
t streaked her sneakers.

ngry dog barked loudly.

e clown caught the kid before he fell.

(D)™ This is how the world goes.

88. What device is present in the line ‘The Wind whistled a high and lonesome tune’ ?

(A) Irony (B) Personification
(C) Metaphor (D) Alliteration
89. The sentence ‘The lazy lizard lounged near the lake® is
an e .
(A) Metaphor (B) Alliteration Xample of ?
(C) hyperbole (D) Paradox

90, He said he reconsider his decision.
(A) may (B) might
(C) can (D) could
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61, DAL SUL Aol Brarg 2
(A) 825 513 all oy,

e | (B) Reiaisr el ®
i (D) ﬂ-i—tm&mg@

62.  “§Ras Aiflay LAY SU NSRS 9 ()
(A) sddl - B) i\, ¢
(©) ge >

63. Ml et AioteA US| Aty 514 Bersa 14 Beagell' Al 242 g U ¢
(A) s4@ sy

&B} g1 Al
(€) oudag ,:,@ (D) v uzq

64.  ALRAAML 56 3L SRl n?
(A)  gamidl i (B) 2addldal
(C) MY Hsq Q~ (D) &loile AR o4d]

(B) =Ml
(D) sléal2

63.

66. [Riatal 56 wglaell (el md e szl 243 ¢
(A) <A (B) %A
(€)@= (D) uRxwg

67. {341 s Al Qv ARGl e © 9
(A) Al sl AR B.
| (B) @ivigAt Al Guadt ol u 6.
(C) Al <} aRd q2all.
(D) L A A 53 8.



69.

70.

71.

72.

.3,

74.

75,

76.

7.

| 5 ST-1
AAniiell 56 oliotd s dl Rig s usi ?
(A)  uBU-A &g (B) [l g
(C)  [@eterA =21 (D) Eizeru Gaal

Bg ey W2 AAAricll 53 [Qurt W6 ¢
(A) uqFAllasiay,

(B) i [Gnz 1B di-join Al HBell
(C) [t sl stid 95 W

(D) €35 cideAl 2id Heuist |
{RA-r1i2]] 59 Bt cuns S& 531 usdl ? @
(A) il viend]l 23 (B) IEL ALl UMY O

(C) UM YAl Wit 53 (D) HUMs slaeus

2Ll ezl sl ol Slaie Akl 531 ust 7

(A) BAel-5u B) s ud
(C) Hdul-diu “@
olnsHl 53 Slued Alell S8 [EsA S 9 &

g !
(A) i (BY dvid
(C) #aul ) suA
QAL [Rieterl deibis :H% g iz el ¢

¢

(A) A&l (B) vy

(C) cusEL % (D) s@uRux

WisResH Al U 585 ollotdedl uHIdeL 28 Wk 9

A) R (B) &
(D) oflcuat

2l ug et otnsmi Hlell udeu sriaaill sins eus el ¢

Vi (B) &
(C)" dl (D) Al
Heuis--l 53l & Aol Wl B 9
(A) et usrigl (B) &qil-dl Rifs
(C) [Avusrdd st (D) [Retsl sund

52| ] AR 588 ottt Defl 121 631 24 9
(A) SRS RASL ey (B) sIHl wHieidel
(©) S [auua (D) s uznetll Guailat
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(65) | 4
gg. Orrrdorll R Detiial s ygiey 15 azencusll il s 9 '
(A) a‘l"lll'""lﬁl&ﬂ (B) “‘i&&ﬂ
(€) el usR-AL (D) gsoraiell
79, AR 5% A SR NS oy Ulet| Heuis-t A2l e, WHIOHI A ¢
(A) ticHel (B) wrqaall
(C} Ro'l":{ USRAL (D) %g,_ ﬂfqtbﬂ_

80. el UAL 4530 531 olletell ol sue Dlatcani] it WRAdH 52 51R0L 5810 ¢
(A) UHlYs

; (B) uials
(©) wAdsufis (D) WRRARY- @

12 A AL PR WHEMIS 81 2L 85 -4 oyeqioq 2L -

Azois, B8 Wi (el w2 B ¢Bur 8. & oioidl wala iy sl UHA 3 Bau w2

i, 0AAL € AR o Al2ois-i Ba oy ur o ey . 2&@ QR AugBEes d
45 sRell-Al oYl 2@ AlRogs, B Wi, Bl widly &) [Raulol szl Wizl 2 AR v
. as, YEUR 2 Wl PRAL 2 Uy 5 odl o . BevAl A dlldi-l
riotizll 2 ey SHa et Sl el B8u il @riierd 518 oA Al o d
ol A A @vul vl 2k B, Al H® L5, M 51 Bisaus v € dll A Wt 2l

Reoip BEYor B.

81. Alzois g Wi (el %ﬁ_&m 8. alsml SRR 006 Bl MSRALU0E 6 1

(A) cc™ (B) clgd
(€) el (D) &

82, [euell uoel & egtuusl.
(A) (B) [dew + 2l
(©) (D) [den + 22l

83. 9L oy MR o GAIL 6. — | [AMEL sUlL Uoe B 1

AL204s (B) ®al
©) oy (D) @uiid

84.  “5iclor-ll 51 Rauion szal Hiz-dl i[RI v 6. il 2l @b wodi ke § 9
©) el (D) 4R

85. 2y Aoy YR el @vilel 51 odae A2l — Al SS9
(A) adMiA (B) cydsin
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R e e 2l umsHis 86 Ul 90 AL oveiet 2pdl -

86.

87.

88.

§89.

90.

Soradl3 pell HMIRL

S ey oy !

HIGIH Sl dll Al olid,
ol 2Rl wimad 2.
gvadA ardl {al Rrme
HERA l'e AR 2.

S12 YRHIEL YSel 2 can
AL et v sIA 2 3

b

SleqHL UEUL 51 ML S 7

(A) Elzad

() a4

/Q '
ABLL YL 4 el 5 58 6 6@

(B)  HIGRA 2l M2

(A)  oelldl ovaud w2
(€) el 42l Wiz @ (D) W0 o o WZL S w2
b 12

{21 521 UsEHY < il Gl L AL S ¢

(B) 3B
(©) (D)  §ovasl
- o6l 22l 2 2 7
(A) Eld (B) B
(C) DBrudw _ (D) ul
A5t 3 Houd € ?
(A) esR (B) il

(©) Tl (D) Ay

ST
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SECTION—IV Qg _ 1y

MATHEMATICS / TTfTe

There 3 . i
re 30 Questions in al] in this section.

All questions are compulsory

¥ @UE 1§ e 3 et 8

W HfEr § ' O®

91.  If cost price of 12 pens is cqual to selling price of 16 Kﬂm@/l““ in percentage is

equal to
(A) 25% profit B) 25% ¢
(C)  40% profit ED: 4{}5;., :EBS
o afe lzﬁwmrﬂmﬁf%ﬁmw% /&1 w1 wferema wTE R

(A) 25% @™ B) 25%
(C) 40%em™v [D&

92. Mr. X hasa certain amount. Hg Fitegfin bank some amount at simple interest rate of
le interest. One fourth of first amount is equal to

terest is ¥ 2,500 after two years, then total amount

the one fifth of rest amo It 3 ‘ k.
: invested is equal to
(A) T 12,000 (B) ¥ 11,000
(D) % 11,500

(C) T11,250
s X % 9w Tl R | 363 F8 RN 10% wie s 61 g0 A 3 Sl 12%
|l =41 HI % srr g | el o <t e, Sy ot % ored e 3 s
2iaRka el ST T 2,500 A1 51 Y 778 et 1ty S

(A) (B) ¥ 11,000

(©) (D) ¥ 11,500

3 litre mixture of water and sugar has 40% sugar. If | litre water is added in this mlxture,
then sugar percentage in new mixture is equal to
(A) 25% (B) 30%
(D) 40%

C) 35%
iﬁ%ﬁxﬁa%ﬁﬁ&t%ﬁﬂﬂﬁ%ﬂ%ﬂ% | afg lﬁﬁzttrﬁhwﬁwﬁﬁmﬁmm

2, At T Rygror 7 b 1 wfoT ST R
(B) 30%

(A) 25% _
(C) 35% (D) 40%

&J_. ; e ul

93.



r (68)
ual to
%4.  In given parallelogram ABCD, values of x and y are €4

z:J S}r /
" .
Lax+y 150

(A) x=25%y=125° B) x=125%y=2
(€) x=15%y=30° (D) x=30%y=15"

R - ABCD #, 3 y & A T E:: 0®
- Sy 722

150°
(A) x=25%y=12.5° (B) «x
(C) x=15%y=30° (D)

95.  Kabir buys pencils at the rate offf Ng T 1% He sells it at the rate of 10 in T 11. His profit

in percentage is equal to

(A) 10% )} 11%
(C) 20% (D) 21%
FAL 107 11 RIFT 118 10 A 72 39 21 2 | 3w vhwg
Y R
(A) 10% (B) 11%
L {D} 21%
125
=277 * then x is equal to
247
B) 126
D) 2
_ 125
-2]26~H‘T.xﬂl'ﬂ§
(A) 1 247
(B) 126




§7-! (69) _ F
g7. In given circle, vallue of 8 is equal to '

N
¢ 2 | . (B) 45°
AR, 0% 9w s O

(A) 35° (B) &
98. Out of following which st 5 not show nature of Mathematics ?
(A) Mathematics @ language from which formula, concept principle are

derived.

3§ 17 A1 FY= T 6 v T im0

(A) wifora < ot s gt @ foreeh Areas & &, werw, R 1 whre R |
(B) fore F 7ot wewre <hY SATEAT i HTE I # |

(C)  mfore 3 wrerfiacor 37 8 wepfa B R |

(D) @A, T, WIgA T T 1 SRR |

L_.ll =i
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(70) : 8T

| “The progress and the improvement of Mathematics are linked to the prosperity of the
] State.” This statement reflects which value of Mathematics ?

(A) Social value of Mathematics

(B) Moral value of Mathematics

|
{
E
[
(C)  Artistic value of Mathematics
(D) Disciplinary value of Mathematics
i
|

‘ﬂﬁﬁaﬁmﬁmq&%ﬂﬁm-&mﬁﬁﬁl“% RRGER SE

| Sefita wwan & ¢ ()

_f (A) ira =1 wrnfoes 4o & .
(B) ifora = Ao wew

100. A device for finding o upils understand and can do with a purpose of adapting
future teaching t he individual or the class i1s known as

(A) Sumn ment

(B) Informafye Assessment

*
ystic Assessment

Mﬁﬁm&wmﬂ?&ﬁ%ﬁﬁﬁmﬁﬂmH@% 3 Tm anqnqwgaﬂ
mﬁ%mﬁmmﬁﬁmﬁwqﬁmmmmmﬁ
H%,mg:
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102.

(D)

e | _
out of following which i not the ch o3 . F
Chara

(A) Looking in pupil’s answer books as th
ey are workin
(B) -Listening to pupil’s t g
alkin .
discussion, & 10 other pupils as they explain the work or engage in

(®)  TReef v v et e s < s |

L 4
(C) TSI T YB T WAt v fdr o N
(D) ferenf¥iat i sen-gftmmait % st .

All teachers are encouraged to Qs £e mathematical vocabulary, and to promote the

use of mathematical vnca o pupils this vocabulary is known as
(A) Languagein 7\« ducation
it

(B) Values in Mage ics Education

(C) Correjat Mathematics Education

Mathematics Education

wft 'ﬁmWW%WQWMW%WW%M
%Wﬁm%ﬂmﬁa,QWﬁmmi

(A) Tiior Rregor = WIS

(B) ftr fareqor ® 4ed

(C) wriora fovg & FEEEY

(D) Tifore fggon H IR



F (72) PEAS
103. Out of f{,]][-,.wling, which statement is not correct with regard to characteristics of
Mathematics ? '
(A) Matlhematics is called the Science of logical reasnnipg.
(B) Mathematics is a way to settle in the mind a habit of reasoning.

(C) Mathematics is not a abstract science.

(D) Mathematics has béen defined as the Science of number and space.

A3 ol R e @ e e R R < we) - e g

(A) iftra fermami & arfdhes fasm 2 |
QO

(B) Tvra sa & Wit § ad 6 3ed ®I @91 B0 :
3

(C) wiftrer 3rgd fersma i 2 |
(D) TiTa i GET vE T % faae % &y T |

104. To know the nature and charag error took place by students while solving the

problems of Mathematics is K

(A) Content analysis natics

(B) Eror anaiﬁ@ matics
h

ea's in Mathematics

(D) Emo sis in Mathematics

Wﬁﬁﬁﬂﬁm&ﬁﬁiﬁﬁﬁ%ﬁmaﬁmﬁmﬁwﬁﬂﬁﬁuﬁaﬂ;ﬁmﬁﬁ
aﬁmaﬁa@m%_

(A) Tifore & fersarereg vt

(B) it # fe farersor

(C) ifvre & fersaraeg wversw

(D) wﬁmﬁjﬁa‘?ﬁw
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105, Situation presented by teacher in the ¢
pew topic is known as

(A) Previous knowledge
(C) Statement of aim

F

lassroom to find the attention of students towards

(B) Introduction

(D) Ideal question

ﬁm%wﬁrﬁnﬁﬁmmmm .
* —w 1 £ 9
e TR 2 e foru 3remyes gro wan-+E | T

() t@‘m . (B) w=mEm

(C) I I ey

construction in Mathematics ?

106. Out of following which statements does not shows best G@ of curriculum
(A) Eurriculum of Mathematics should be child mﬂ« *
(B) Curriculum of Mathematics should be activi .

(A) Tiore o1 qraasn faemefi 2
(B) ifora =1 wigas R siftrigeahg/A

(€) Trﬁmmlmairm el AT &1 © suAfeId g1 =R |
’QD} TforE w1 uTau T NI 1 weald w1 sravass T8 aree |

107. Out of followi
Mathematigs ¥

» qW¥estions inside or outside classroom,

nalysis of answer scripts of students.

(D)¥ By comparing students

Presfonfige & 2 w2t fty Farereft 8 i e v T o vl Fafr i 2 2
(A) renrfoRdi ) & 3 I TE WIECTH FEAT |
(B) wifgw %r
() Frenefi 1 oR-gfRenia @1 ferwer
I@D) ferenfefa # g Fh

..-*-L___
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1
08, Two Whole numbers are given. If thr

109. Sum of place values

5T

(74)
ee times of larger number is divided by smaller

Number, then 4 as quotient and 3 as remainder are uhtained._' If sevclf times of sml;a]]m
Mumber is divided by larger number, then 5 as quotient and 1 as remainder are obtained,

Smaller number is equal to
(A) '25
(B) 18
(C) 36
(D) so .
AT & A e

2 ot s @t o # | 9w s 35 P @ o s @ Fpw
4 3k e 3 1 B 2 | AR A wEn & wa " fepsfr R e 2 =

WITHS 5 3 ANBeT | 9T g 2 | 819w
(B) 18 &
| (C) 36 6@

(D) 50

9 in the number 17065809 is equal to

(A) 706009

é AT 17065809% 7. 6 37 9 % T WA 1 A s g

(A) 706009
(B) 7006009
() 7060009
(D) 70060009




o

T 75) ' ¥

0. If .the fﬂllﬁ}ving fractions are arranged from smaller to larger fraction, then which fraction
will come in the middle 2

0.909

1 3
3'31%11[}‘{],3]3, 3.

PR A * (B) 0313

() 31% 3

?Mﬁ%ﬁﬁﬁqﬁﬁrm@aﬁmmtﬁmﬁ%““ﬁ
, |

L e 3 00 '
3..3]-/:}1 107 ﬁ+313.‘__3_" . ®
0.909 '

(& 73 (B) 0313 ()O |
(C) 31% D) ﬁ_}_ & .

1. If 9x76

— X oy
3yy7
then values of x and y are equal to

(A) x=9;y=3 y=09
(L) x=8;3=8 & =8
'Elﬁ 276
-x6y9 @
3yy7
ﬁ?x&ﬁiyﬁﬂﬁﬂﬁ%
(A x=9; 2 (B) x=3y=9
(C) (D) x=4:y=8§
112. Mr. X %.600. He invested it in a scheme and got 8 times of his amount. Then he

dona
No . X has amount equal to
(A) T1,28,938 (B) ¥1,29,838

(C) 71280948 (D) 129,848
st X 3 9T T 55,600 & | 399 T8 U Are ° P forn ik 3w o w1 8 v v R |

et 36 7 57,986 T TXT 1 g = fed lgﬂ:mﬁwgmmﬁ%nﬁmaﬂxm%ﬁm '
- forgrd wTea AT | 31 X % UTH U WURR '

(A) T1,28,938 (B) ¥1,29,838
(C) %1,28,948 : (D) T1,29,848

_
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113,

114.

115.

116.

(76) ST-l.
Ifa regular polygon has 9 sides, then each exterior angle is equal to
A 36° (B) 40°
©) 1400 (D) 160°
1 O T w1 0 o &, i weden e AR
(A) 36° (B) 40°
(C) 140° (D) 160°

Perimeter of a square is 144 cm. If area of a rectangle is equal to t
and length of rectangle is 81 cm, then difference between length

1S equal to

(A) 16cm (B) 64cm ()

(C) 65cm (D) 36cm & 0 | |
U 1 &1 afrg 144 Wft B | 3w w5 a N ¥ SEwe & SUE & U ARG
it ervard 81 901 R, ) s B ed %«-%

(A) 16 %t (B) -

(C) 65&d

If H.C.F. (408, 1032) = 103

(A) 3
<€ 2 Q? (D) -2
33 7.9.9. (408, ;@ :— 408y A x+ y =7, 7 (x— y) SO B

(A) 3
(€) 2

n is being mndﬁ_cted of three subjects Science, English and Mathematics

: g ents 60, 105 and 135 respectively. Sitting capacity of each room is same. Also
m has students of only one subject. Then minimum number of required rooms is

eq

(A) 15 * (B) 20

(C) 25 (D) 30

60, msaﬁt]ssaﬁmﬁmqﬁwﬁm:ﬁw,a'ﬂsﬁaﬁxﬁaﬁﬁqﬂmmm
ffﬂmm%rnﬁ;wﬁﬂaﬁaﬁlmm%lmm&aﬁmﬁﬁﬁw%wﬁ,
(A) 15 (B) 20
{C) 25 (D) 30
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17.

118.

a7 %
In given triangle ABC, AP ;
ZPAQ is oqual to ' bisector of ZBAC and AQ is perpendicular to BC, then

A

T5%
B 350

Qb C
il (B) 40°
o) 15 (D) 25°

foa ™ Brgw ABcii AP, ZBAC 1 wmfgsrer & aen AQ, BC‘HH‘@ AQ e }

(A) 20°
© 15° (

1s equal to

In given triangle ABC, OB %%mcmm of £B and £C respectively, then ZBOC

(A) 70 (B) 110°

(©) i

3 m Physt ABC #, OB 3R OC #5%: /B 3R £C % wfsma &, /1 ZBOC e R
A
a

B C
(A) 70° (B) 110°
(€) 140° (D) $0°



120. A student’ Was wrongly entered as

’ : |
@ mark ass got increased by 5- Total number of students in the class is equal to

E L then which H‘L{Q
119 ' per diagram. © One of &

. s
Sides BA and DC of quadrilateral ABCD ar¢ extended 8
the fnllnwing is true ?

D .
a
v
E A B
(A) x+y=a+b (B) x+y=a-b ®
oA S

(€C) x-y= 3 (D) 12 =a-b

ST ABCD #1 Y13t BA 3 DC %1 315fd Wm&a’lﬁﬂﬂ%mmmi?

T
Qg; _

108 instead of 98. Dye to this mistake, average

(B) 30
(C) 50 (D) 70

T B F 3% 08 FY w9y 108 fe & 3iferm 2 ma Imz&%mmﬁ;aﬂqﬁm i
T | e H B ) o e av

(A) 10 (B) 30

(©) 50 (D) 70
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SECTION-V /@vg v

EN
VIRONMENTAL STUDIES / qaTetor 3168

Ther .
€ are 30 questions in all in this section.

All questions are compulsory.

WEEi g 30w d | @

_' . aft wom AfEE )
@ 121. Which is the state bird of Rajasthan ? ®
(A) Great Indian Bustard g ()O
(B) Peacock

(C) Vulture ; . &
(D) Crane _ @ |

TAEIH 1 T Tefl FA F R 7

- (gf\ 5

() Frg

g Qg»

122, Which i= correct Red ?

(A) Bom al History Society - New Delhi
(B) | Survey of India - Kolkata
(C) [IMife Institute of India - Coimbatore

(D) National Botanical Research Institute - Jodhpur
(@ Prerfrfon Ao & ¢

(A) a e T wed - wifeeh

(B) A Seeafa wdem . HIAHT

(©) qmﬁwa-wﬁwm - AR
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123. Which of the following is not a source of renewable energy 7
(A) Fossil Fuel (B) Hydro Electricity
(C) Wind Energy (D) Solar Energy

@ Frafafga 3§ & B o el sl & @@t 2
(A) Sfarem fua (B) vt e

(C) . vad FHat : (D) =R FH

124. Who coined the term ‘ecosystem’ ? &
(A) Haeckel (B) n%
(C) Tansley .

“qiftaa’ wreg 1 e fehEA .

(A) e 6 (B) EWElee
©) e Qb (D) 3ireH

S
@ 125. Whi f India has highest rainfall ?
gnga]um (B) Mymr,;
(C) Srinagar (D) Mawsynram
TG 1 T 91 aTen &I HH 2 7
(A) FTerE (B)
(C) HAm (D) i

G

¢

O®

5T-1
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bl L] (81)
i @ 126. Biotic component of environmeng it

(A) Land (le i

(©) Pléms S

AR % A v § i 2

(A) *ﬂi‘: ®)
g8 3N (D) v

(A) Cd pollution

* (C) Hg pollution

rﬁmnmﬁwawmﬁnﬁrﬁga

(A) Cd g 6? S0, ¥es
(©) Hgwqwm Q.b () T AwE

Lthe following is non-projected teaching aid ?

128. Which o
( (B) Chart
(C) Epidiascope (D) Slide
g § & ey fgo anaft SR e 7
(A) T fRm (B) =@

(C) fom s 77 (TigrR=N) (D) WS
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129, i : ' , . ation ?
Which one of the following activity is not related with environment - poiad

(A) Deforestation
(B) Conservation of natural ressuross

(C) . Massive plantation

(D) Cleaning of waterbodies @
Agﬁqﬁaﬁﬁﬁaﬁqmﬁﬁmmﬁmamﬁmﬂag .

¢

(A) TR

(B) y@iﬁﬂaa’umﬁmﬁ{m. @@
(C) &g eI é
(D) maﬁtm %

taleBucation which teaching method is related to group discussion 7

130.

(B) Lecture

(D) Symposium

Narration
ataton v & e <& e o R R 7
(A) s Frafe (B) TR

| (C) @ (D) fa=w-TE

el
- =“

i



C) to evaluate i
( knowledge and comprehension of the child during their presence at the

school.

(D) to evaluat§ the skills of the chilg during their presence at the -
)W T =T e (H.H3.) =1 gy sdva 2 @
(A) ﬁmﬁw@ﬁ%mm%mm . O
(B) Fremem A SR % T e ) vy

(C) foremer & 3ufRrfa 3 v arems & A FT |
(D) forener & Sufeafy 3 aug % mﬁhﬂm}

9

ental Education Project

132. Full form of IEEP is

(A) Internationa

(B) Internati Eevironmental Education Programme

(C) Indi n¥ronmental Education Project

(D) tiNian i Educatinanmgramme
SRR Rt

(A) TS TARITTHEE T SISt

B) ST T T s

(©) 3o e G Mo

(D) ¥foed GTEe T S
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134.

(84)

5T-1

133. " In order to access the students’ academic achié:.rements of teaching environmental smdir.-.-s._

which of the following evaluative indicator shﬂui:&' not be used ?

( A} Db&maﬁon )

(B) Discus;inn

- (C) Experimentation

(D) Remedial teaching

¥

Wmmﬁm%ﬁmﬁmﬁmm&ﬁq&a@%@mﬁﬁh

FTeheT F=h 1 TA 78l o s wfe 7
(A) ATl BT

(C) SE T

{Di Iq=RIEH R wET é

o abo é}

¢

a:haracteristic of good teaching ?

Which one ﬂfthﬂ'fﬂ“fi
(A) Good tca{:hl n activity.
(B) Good teackhing 1’ emocratic.

is not value based.

(C) Goo

t@aching is planned with definite aim,

§ & i ot ferdrar o= fewr Hradi 2 2
(A) Mﬁm&mmﬁ@m‘él

(B) 3r=a fRreror At gt 2 | |

(C) . Fr=s1 firego T i el €T @ |

(D) mﬁrﬁwﬁmﬁ%ﬂﬁmﬁmiu

(D)

-
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o

(C) i EE ' &
(D) a1 G @@

136.

®5) | - . v

Which one of the following chojce ic . - :
oice is nc;g included in the content of environmental study ?
SHE -

(A) ; Forest conservation
(B) Political conservation
(C) Water conservation
(D) Soil conservation
frferfea § & ks
_ W1 Forer vt s <6 g i wfifm @ R s ?

(A) o HE | _ | ® i

(B) Trrifere dgror

Which one of the following law @ to the trial and error theory of learning 7

(A) Law of reinforceme

(B) Law of readin
(C) Law of ex rcisz
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137. To prevent child labour in India in which year the Child Labour (Prohibition and Regulation)

Act was passed ? -

(A) 1938

(B) 1988°

(C) 1986

(D) 2017
@mﬁwmaﬁnﬁiﬁmmﬁ%%qmm(ﬁﬁuqé

e mn 7

(A) 1938 é

(B) 1988 . @ .

(C) 1986 & |

(D) 2017 6@

@ 138. What is the minimﬂg%ﬂf marriage for girls and boys in India ?
‘ 1 ars

(A)

L 4
(B) | years
(C) and 18 yedrs

vears and 21 years

RA | TSHA1 9 TgH! & foaTe I =Haw FI g Fn g 2
(A) l6Td g |8

(B) 1894 ug 2] ad

(€) 18adwE 18

(D) 21adug 219y
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140.

87 . F .

P i :
; t ‘textile cj
139. What is the name of textile city” of Rajasthan ?

(A) Udaipur ' ®). Ajmes
(©) - Sikar ‘ (D) Bhilwara

TSI 6t 6 H TG R

4) 3“’5* - (B) 3w | | -
(C) e (D) sferarsr @
S

What is the name of medicine commonly used s coMeol the addiction of narcotic drugs ?

(A) Folic acid | ; © (B) @ocaifie
(C) _ Ascorbic acid &%ﬂe '
Wwﬁﬁmﬁﬁﬁﬁz@mmmﬁaﬁm sufy A IR 2

(A) Wit 3 Q (B) WM
(D) e

(B) Assam

(D) Tamil Nadu

(C) Kerala
P & 9 1 100% TR v T (3w T R 7

(A) g (B) I

©) ¥ D) aferTg
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(3) 142 The total number of Member of Parliament in Rajya Sabha from Rajasthan 1s
(A) 10 (B) 25
(C) 35 (D) 20
o 3 e T i 6 e s 2

(B) 25

(A) 10
© 35 (D) 20 ®

143. Who discovered nylon ? & *
_ (B) Carothers

(A) Melvin Calvin

(C) RobinHill . & itchell
qﬂﬁﬁﬁﬂmﬁ?ﬁﬁ% _
(A) ufca e 6 (B) arerE e

(C}ﬁﬁqﬁ& (D) e foit

following is not related to Rajasthan ?

eneshwar Fair (B) Pushkar Fair

(C) Khejarli Fair (D) Magh Fair
Praferfiga § @ & o1 ToRaH  TEfRE AEi R 7
(A) S He | (B) &L Hem

(C) Werge Hell - (D) W Aen




(D) 1959
mﬁmwwﬁﬁgﬁmﬁg >

A) 1920
(A) (B) 1856

C) 1853
© (D) 1959 , ®
@Hﬁ. What is ‘Pisciculture® ? &
*
(A) Bee culture

(B) Fish cultu
(C) Poultry culture (D) No @ ve
frefere=r '%En‘% ?
(A) e e %Qé‘ bl
(€) i yrem Q@ (D) 93w # § i F&

L
amous for

147. Jhamarkot
(B) Rock phosphate

(A)

©) (D) Uranium
IRy wa 1 R

(A) diraT (B) T HrEhe

© fi® (D)
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us disease 7

@143. Which of the following is @ contagio
; (B) Heart attack

(A) Diabetes
: , L
(C) Hypertension (D) Diphthena

(A) =YAE

(C) IA-TFEM (D) fg—aﬁﬁ'ﬂl ' @

@ 149, Which of the following test is directly related w1 7 &
(A) Widal ®)
(C) ESR ‘&@
freferfiaa § & 1 a1 wliew S s e & 7
(A) fo=re @ B) T
(C) TEIAR Q (D) R
o

150. In whi r pulse polio immunization programme was launched in India ?

985 (B) 2005

) =8 | (D) 1990

T e e BTl T e 3o foe

(A) 1985 (B) 2005

© 1% ; (D) 1990




